L Kaymar

Fitting Instructions LEFT HAND WING BRACE Suitable for PRADO
150 KAKADU

1. Remove plastic cover from compressor.
2. Remove two bolts from bracket which holds compressor in place.
3. The support plate on the bottom of the compressor needs to be undone and rotated one bolt hole

clockwise and then re-fit.

4. Cut off original support plate on
compressor bracket.

5. Fit Kaymar wing brace between compressor bracket and chassis. Secure using M8 x 20 bolts,
MBS spring and flat washer.

6. Bolt wing brace to side wing using M 10 x 30 bolts, flat, spring and M 10 nut.

7. Using original bolt, secure
compressor support bracket to wing brace.

8. Attach mud flap using M6 roof bolt and nut.





